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Missing Numerator

Calculate the missing numerators.

4503 of = 150 4502 of = 225

6055 of = 363 3339 of = 74

4484 of = 336 6008 of = 75 2253 of = 75

1757 of = 25 1926 of = 128 1024 of = 25.5

6753 of = 225 635 of = 25.2 2168 of = 54

2643 of = 176 3455 of = 276 7659 of = 170

2255 of = 90 9909 of = 770 8757 of = 500

4012 of = 200.5 2012 of = 100.5 6025 of = 120.4
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Answers

Calculate the missing numerators.

4503
1 of = 150 4502

1 of = 225

6055
3 of = 363 3339

2 of = 74

4484
3 of = 336 6008

1 of = 75 2253
1 of = 75

1757
1 of = 25 1926

4 of = 128 1024
1 of = 25.5

6753
1 of = 225 635

2 of = 25.2 2168
2 of = 54

2643
2 of = 176 3455

4 of = 276 7659
2 of = 170

2255
2 of = 90 9909

7 of = 770 8757
4 of = 500

4012
1 of = 200.5 2012

1 of = 100.5 6025
1 of = 120.4


